REHREK

REEHES 10010803329999920230030
FLEEHRTR EILKZE (4 R) ERETHRUE (EMER) BRRETER
ELE A EA
BT RS &F1064E01 A31H 1385309
RERER ¥ERE
M
BITIEY MR EA 13:34:21
ITEEY BlE E£E 13:35:51
¥ e ffE 1,821,000 [ (Fith=)
182751000 M (FithZ)
SAE AW 0 M@ (FikE)
0 M (Fk=)
=T R B 2024.01.31 13:36
.
o2 = =3 o2 = =3 P =+ P2 =+ %E %’—% 5@'
= - - - - UT BLE
1 %R EStiREEES 3,500,000 3,400,000 3,300,000 1,800,000 O | O O

i

3 A HLMEERE

KRS RERERGER



SOk W

[SE B8]

fro®  om R &

L EBAL MUK (PR SEBRSEEEUE (EMER) AR ER

. P IREREORMNEE D B TEAH S5 64 1HA10H

L TaR—FALDOFR S AR T a R —LFR LK)

/NG| S f 54FE12H14H

. FREWEABE S f 64 1 H25H

. REERE R

O%RFE Tt < 1248 5 FIH
Hifre 2 ERHE4 KFE DA FrE S 1= iH
MRS RS O

B e A gLk G5 REIR




g w8 x

1. RBEW: MUK (4 R) RREBRYE ENFR) EXFHERE
2. BHAFRTOR—FLHH FHEX)

E =

®

=3 b2 (¥R) FREEBIERE CE
" =
FHimE B R3] FHEDYTA =8 RE
RIEEM BERR. FHETTS O x @)
EERITEDEERUER 8 8.0
EERREDETEEBOERE 5 30
P E OB EEEHEORER TELEHOERE 13 110
TEFMEOERRVER(BE) 9 9.0
TERFEORBIITELESOEM (BE) 13 110
NoE 48 420
BifrE%R 5 50
Bt A 5 5.0
BifRREDREEDEEN ITEEBORE 10 6.0
T—9-547- NSV REDHHE 5 0.0
NoF 25 16.0
EBNBDERE 15 9.0
EEAHOZ LM 15 9.0
Sl EEFEOR LM 15 9.0
IREGEOZAHE 5 30
BRifrEREFEOZR LK 10 20
NoE 60 320
[ZEBIZZER T 51=DITBHEREARMLTRNBTDRRITONT 20 12.0
REITOVTORE RFaL. HEOHFEE, AXMERE RIBAEEFEICDONT 20 12.0
N E 40 24.0
& &t 173 114.0
I 6L 1
% OE @)

[(ZE#HKHI7-2]



[ZEH5Hfl6]

& E M R F

COEBA  MILRE (PR EBRIFEHGE (EWMESR) ARREER
CETHEHEH S5 64 1H10H

L Ta RO FR S AER T v R — L (EK)

. ZRH S 5HFE12H14H

. IRTERE R

Ok W N

OEE FHi S IR D FIH

ZINEWEFEHE 4 BIE DA FHig i B

[EfrfE R EFORHEICE RSN D E

> N L=
PR e mwE SR,
PR 2 B R 7 o
PR ILSEMRSR BT | O

(% %)
1. BEOHFE] MICIZ. BESNZEAICIT TO] ERHE L, BESNR-HEI2F
x| L4 5,
2. [BEINRD-LBH] OMICIE, IEREEMELFBEONEEZRZHET D,



2 m X B B F E =
1. EHBM: ELARFE (FR) RRESHRBE (EMER) ERERFHES
2. BRARETOR—FILAR JEXK)
X % A% BE C&
w &
FHEER =R Balilolykseg R R R
RIEEMH RERRL. FWELITH Oh x @) @)
EEEMNEDERRUER 8 8.0 8.0
ERFEMEDETELHDEE 5 30 30
8 e O EEREMEDREITELEBOEE 13 11.0 13.0
FERMEDERRVERERE) 9 9.0 18
FEEMEDREITELEBROERE (BE) 13 11.0 13.0
N E 48 420 38.8
BiTEH 5 5.0 1.0
i A 5 5.0 50
BifREEDRHEEDREN FTEXBORE 10 6.0 10.0
T—0-547- NSV REDHE 5 0.0 0.0
N 25 16.0 16.0
& 7 73 58.0 54.8
& £z 1 2
E X x (@) @)

[BEH#ABIT-1]



